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Answer Key:

1.) D
2.) D
3.) B
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A line segment with endpoints (—3,4) and (5, —6) is used to perform a dilation with center (0,0). After

the dilation, the new line segment has a length that is half as long as the original line segment. The

dilation has a scale factor of k. Annabelle claims that kK must have been %

Which statement BEST describes Annabelle's claim?

A Annabelle's claim is incorrect since the scale factor of dilation was 2, not %

B Annabelle's claim is incorrect since the scale factor of dilation could have also have been —%.

C Annabelle's claim is correct since a scale factor of % results in a line segment half as long as the
original.

D Annabelle's claim is correct since a dilation of a line segment half as long as the original must have

a scale factor of %
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‘Which counterexample can be used to show that the following conjecture is false?

Given: /1 and Z2 are adjacent angles.
Conjecture: Z1 and £2 are supplementary angles.
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Ron is asked to mark Point X on P_Q, using a compass, such that ABis congruent to PX.
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‘Which step should be followed to mark the point correctly?

A

Using Point P as the center, extend the compass to a radius equal to half of AB and draw an arc
intersecting PQ at Point X.

Using Point () as the center, extend the compass with a radius equal to half ofA_B and draw an arc
intersecting PQ at Point X.

Using Point () as the center, extend the compass with a radius greater than E and draw an arc
intersecting PQ at Point X.

Using Point P as the center, extend the compass with a radius equal to AB and draw an arc
intersecting PQ at Point X.




